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02
SET CGL (TIER-I)-2022

Shift-2, 11:45am

Exam Held on 01/12/2022

Q.1 x is a negative number such
that k + k-1 = -2, then what is

the value of  
2

2

4 2

5

k k

k k

 

 
?/x ,d

½.kkRed la[;k gS tSls fd k + k-1 = -2]

rks 
2

2

4 2

5

k k

k k

 

 
? dk eku D;k gS\

(1) 7 (2) 1
(3) -7 (4) -1

Q.2 If 
1

5 2
 

  
 
x

x
, then what is

the value of (x4 + x-4)?/;fn

1
5 2

 
  

 
x

x
] rks (x4 + x-4) dk

eku D;k gS\

(1) 2542 (2) 2650
(3) 2452 (4) 2302

Q.3 A man rows a boat a certain
distance downstream in 9
hours, while it takes 18 hours
to row the same distance
upstream. How many hours will
it take him to row three-fifth of
the same distance in still

water?/,d vkneh ,d fuf'pr nwjh
dks /kjk ds vuqdwy 9 ?kaVs esa r; djrk gS]
tcfd leku nwjh dks /kjk ds çfrdwy r;
djus esa mls 18 ?kaVs yxrs gSaA mls 'kkar ty
esa leku nwjh dk rhu cVs iakp Hkkx rd
uko pykus esa fdrus ?kaVs yxsxsaA
(1) 9.5 (2) 7.2
(3) 10 (4) 12

Q.4 Study the given chart and
answer the following question.

/fn, x, pkVZ dk vè;;u djsa vkSj
fuEufyf•r ç'u dk mÙkj nsaA

220 240

180

160

200

Production of steel (in mn units)

Rajasthan
Gujarat
Delhi
Kerala
Tamil Nadu

What is the central angle
corresponding to the production

steel by Kerala?/dsjy }kjk mRiknu
LVhy ds vuq:i dsaæh; dks.k D;k gS\
(1) 82° (2) 65.8°
(3) 75.2° (4) 72°

Q.5 A shopkeeper makes a net profit
of 44% on selling an article at
successive discounts of 10% and
20%. Find the net profit
percentage, if the shopkeeper
sells the same article at a

discount of 15%./,d nqdkunkj ,d
oLrq dks 10» vkSj 20» dh Øfed NwV
ij cspus ij 44» dk 'kq¼ ykHk dekrk gSA
'kq¼ ykHk çfr'kr Kkr dhft,] ;fn nqdkunkj
mlh oLrq dks 15» dh NwV ij csprk gSA
(1) 50% (2) 70%
(3) 30% (4) 40%

Q.6 What will be the value of

sin30 sin40 sin50 sin60

cos 30 cos 40 cos50 cos 60

   

   
?/

dk D;k eku gksxk

(1)
1

2
(2) 3

(3) 1 (4)
1

3
Q.7 What is the ratio between the

HCF and LCM of the numbers
whose LCM is 48 and the
product of the numbers is

384?/mu la[;kvksa ds HCF vkSj
LCM ds chp dk vuqikr D;k gS ftudk
LCM 48 gS vkSj la[;kvksa dk xq.kuiQy
384 gS\
(1) 1 : 4 (2) 1 : 6
(3) 1 : 3 (4) 2 : 5

Q.8 The price of a scooter increases
successively by10%, 5% and
15%. What is the total
percentage increase in price of

scooter?/,d LdwVj dh dher Øe'k%
10»] 5» vkSj 15» c<+ tkrh gSA LdwVj
dh dher esa dqy fdrus çfr'kr dh òf¼
gqbZ gS\

(1)
33

32 %
40

(2)
21

34 %
40

(3)
11

30 %
40

(4)
31

36 %
40

Q.9 If areas of similar triangles
ABC and DEF are x2 cm2

and y2 cm2 respectively and
EF = a cm, then BC (in cm)

is:/;fn le:i f=kHkqtksa ABC vkSj
DEF dk {ks=kiQy Øe'k% x2 lseh2

vkSj y2 lseh2 gS vkSj EF = a lseh gS]
rks BC (lseh esa) gS%

(1)
2

2 2

y

a x
(2)

y

ax

(3)
ax

y (4)

2 2

2

a x

y

Q.10 The average of the marks of 25
students in a class, in an
examination was calculated to
be 19. Later, the teacher
realized that the marks of two
students were taken as 18 and
19 respectively, instead of 14
and 15. Find the new actual

average marks of the class./,d
ijh{kk esa ,d d{kk esa 25 Nk=kksa ds vadksa
dk vkSlr 19 ifjdfyr fd;k x;kA ckn
esa] f'k{kd dks irk pyk fd nks Nk=kksa ds
vad 14 vkSj 15 ds ctk; Øe'k% 18
vkSj 19 fy, x, FksA u;k okLrfod
vkSlr vad Kkr dhft,A
(1) 17.43 (2) 16.56
(3) 18.68 (4) 17.65

Q.11 Simplify x9 × x5 × x-4 × x0 × x-6.

/ljy dhft, x9× x5× x-4× x0× x-6

(1) x4 (2) x-4

(3) x-6 (4) x6

Q.12 The value of (sin30° cos60° -
cos30° sin60°) is equal to:/
(sin30° cos60° – cos30°

sin60°) dk eku blds cjkcj gS%
(1) – cos30° (2) – sin30°
(3) cos30° (4) sin30°
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Q.13 What is the ratio of the mean
proportional between 1.6 and
3.6 and the third proportional

of 5 and 8?/1-6 vkSj 3-6 ds
eè;kuqikrh vkSj 5 vkSj 8 ds r̀rh;kuqikrh
dk vuqikr D;k gS\
(1) 2 : 15 (2) 5 : 16
(3) 3 : 16 (4) 4 : 15

Q.14 The difference between the
cost price and selling price of
a pair of shoes is `1,200. If
the profit is 15%, the selling

price is:/,d tksM+h twrs ds Ø; ewY;
vkSj foØ; ewY; ds chp dk varj
`1,200 #i;s gSA ;fn ykHk 15% gS]
rks foØ; ewY; gS%
(1) `8,200 (2) `9,200
(3) `8,000 (4) `9,000

Q.15 A person lent certain sum of
money at the annual rate of
25 percent on simple interest.
In 6 years the interest
amounted to `360 more than
the sum lent. What is the sum

lent?/,d O;fÙkQ lk/kj.k C;kt ij
25 çfr'kr dh okf"kZd nj ij ,d
fuf'pr jkf'k m/kj nsrk gSA 6 o"kks± esa
C;kt dh jkf'k m/kj nh xbZ jkf'k ls
`360 #i;s vf/d gSA m/kj nh xbZ
jkf'k D;k gS\
(1) `600 (2) `360
(3) `720 (4) `540

Q.16 The side of an equilateral
triangle is 12 cm. What is the
radius of the circle
circumscribing this equilateral

triangle?/,d leckgq f=kHkqt dh Hkqtk
12 lseh gSA bl leckgq f=kHkqt ds ifjxr
òÙk dh f=kT;k D;k gS\
(1) 6 3  cm (2) 4 3  cm

(3) 9 3 cm (4) 5 3  cm

Q.17 The following table shows the
number of different items in
different shops and their
respective selling prices per

unit./fuEu rkfydk fofHkUu nqdkuksa esa
fofHkUu enksa dh la[;k vkSj çfr bdkbZ
muds lacaf/r foØ; ewY;ksa dks n'kkZrh gSA

Shops Total No. of AC : Cooler Selling Price Per Unit

Items : Fan Cooler AC Fan

A 5000 4:5:1 8000 25000 8500

B 1800 3:2:4 10000 20000 16000

C 3400 6:4:7 6000 42000 15000

D 3600 4:2:3 12000 32000 8000

E 4000 5:1:4 8000 26500 12200

F 1210 2:4:5 11000 28000 11100

Find the percentage of total
revenue which comes from
Cooler from shop E,
considering all given items are
being sold from shop E and
from all the given shops only
given three items are being
sold. (Rounded off to three

decimal places)/nqdku E ls dwyj
ls vkus okys dqy jktLo dk çfr'kr
Kkr dhft,] ;g ekurs gq, fd lHkh nh
xbZ oLrqvksa dks nqdku E ls cspk tk jgk
gS vkSj lHkh nh xbZ nqdkuksa ls dsoy rhu
oLrqvksa dh fcØh dh tk jgh gSA (rhu
n'keyo LFkkuksa rd iw.kkZafdr)
(1) 4.226% (2) 3.516%
(3) 10.45% (4) 8.910%

Q.18 The following tables shows the
marks (in percentage)
obtained by six students in
four different subjects in an
examination Maximum marks

in each subject are 100./fuEu
rkfydk ,d ijh{kk esa Ng Nk=kksa }kjk pkj
vyx&vyx fo"k;ksa esa çkIr vad (çfr'kr
esa) n'kkZrh gS] çR;sd fo"k; esa vf/dre
vad 100 gSaA

SST PHYSICS CHEMISTRY MATHS

A 92 90 90 80

B 90 80 85 85

C 80 80 65 70

D 85 80 82 75

E 80 75 75 85

F 90 90 90 85

Student
SUBJECT

Answer the following question

based on the table./rkfydk ds
vk/kj ij fuEufyf•r ç'uksa ds mÙkj
nhft,A
What is the number of
students whose overall
percentage obtained is 80%

and above?/mu Nk=kksa dh la[;k
fdruh gS ftudk dqy çfr'kr 80» vkSj
mlls vf/d gS\
(1) 4 (2) 5
(3) 2 (4) 3

Q.19 The table given below shows
the number of persons
participating in a survey from

6 different states./uhps nh xbZ
rkfydk 6 vyx&vyx jkT;ksa ls ,d
loZs{k.k esa Hkkx ysus okys O;fÙkQ;ksa dh
la[;k n'kkZrh gSA

States Persons

S1 100

S2 200

S3 400

S4 500

S5 600

S6 800

What is the ratio of number of
person participating in a survey
from state S3 to the number of
person participating in a survey

from state S4?/jkT; S3 ls loZs{k.k
esa Hkkx ysus okys O;fÙkQ;ksa dh la[;k dk
jkT; S4 ls loZs{k.k esa Hkkx ysus okys
O;fÙkQ;ksa dh la[;k ls vuqikr fdruk gS\
(1) 3 : 5 (2) 5 : 4
(3) 4 : 3 (4) 4 : 5

Q.20 What is the remainder when

8127 is divided by 8?/8127 dks
8 ls foHkkftr djus ij 'ks"kiQy D;k
gksxk\
(1) 5 (2) 7
(3) 4 (4) 6

Q.21 A, B and C can complete a
piece of work separately in 10,
20 and 40 days, respectively.
In how many days will the work
be completed if A is assisted by
both B and C every third day?/

A, B vkSj C vyx&vyx ,d dk;Z
dks Øe'k% 10] 20 vkSj 40 fnuksa esa iwjk
dj ldrs gSaA ;fn A dks izR;sd rhljs
fnu B vkSj C nksuksa }kjk lgk;rk iznku
dh tk, rks dk;Z fdrus fnuksa esa iwjk gks
tk,xk\

(1) 8
2

7
(2) 9

(3)
2

10
3

(4) 6

Q.22 What is sin - sin?/sin - sin

D;k gS\

(1) 2cos
2

 
sin

2

 

(2) 2sin
2

 
sin

2

 

(3) 2cos
2

 
sin

2

 

(4) 2cos
2

 
cos

2

 

Q.23 A hemisphere of lead of radius
4 cm is cast into a right
circular cone of height 72 cm.
What is the radius of the base

of the cone?/4 lseh f=kT;k okys



K
D
 P

u
bl

ic
at

io
n

KD Publication15 CGL TIER-I-2022 | 01/12/2022 | 11:45am

lhls ds ,d v/Zxksys dks 72 lseh Å¡pkbZ
okys ,d yEc o`Ùkh; 'kadq esa <kyk tkrk
gSA 'kadq ds vk/kj dh f=kT;k D;k gS\
(1) 1.63 cm (2) 1.35 cm
(3) 1.33 cm (4) 1.45 cm

Q.24 If the angles of a triangle are (x
- 46) degrees, (x + 96) degrees
and 8x degrees, then what is

the value of 2x?/;fn ,d f=kHkqt
ds dks.k (x - 46) fMxzh] (x + 96) fMxzh
vkSj 8x fMxzh gSa] rks 2x dk eku D;k gS\
(1) 15° (2) 24°
(3) 26° (4) 13°

Q.25 O is the centre of this circle.
Tangent drawn from a point
P, touches the circle at Q. If
PQ = 24 cm and OQ = 10 cm,
then what is the value of OP?/

O bl òÙk dk dsaæ gSA ,d fcanq P ls
•haph xbZ Li'kZ js•k òÙk dks Q ij Li'kZ
djrh gSA ;fn PQ = 24 lseh vkSj OQ

= 10 lseh gS] rks OP dk eku D;k gS\
(1) 26 cm/lseh (2) 52 cm/lseh
(3) 13 cm/lseh (4) 15 cm/lseh

Q.1 Which of the given sectors is
largely driven by considera-

tions of social welfare?/fn, x,
{ks=kksa esa ls dkSu lk eq[; :i ls lkekftd
dY;k.k ds fopkjksa ls çsfjr gS\@
(1) Foreign/fons'kh
(2) Co-operative/lgdkjh
(3) Public/lkoZtfud
(4) Private/futh

Q.2 The Hindu college was
established in 1791 at ____./

1791 esa fganw dkWyst dh LFkkiuk _____

esa gqbZ FkhA
(1) Calcutta/dydÙkk
(2) Dacca/<kdk
(3) Surat/lwjr
(4) Banaras/cukjl

Q.3 In which of the following
languages did Jyotiba Phule
write ‘Gulamgiri’ in 1873?/

1873 esa T;ksfrck iQqys us fdl Hkk"kk esa
^xqykefxjh* fy•h Fkh\
(1) English/vaxzsth
(2) Marathi/ejkBh
(3) Hindi/fganh
(4) Gujarati/xqtjkrh

Q.4 Which of the following are Rabi

crops only?/fuEufyf•r iQlyksa esa
ls dkSu&lh dsoy jch dh iQlysa gSa\

(1) Maize and Peas/eDdk vkSj
eVj

(2) Barley and Gram/tkS vkSj puk
(3) Paddy and Cotton//ku vkSj

dikl
(4) Wheat and Jowar/xsgw¡ vkSj

Tokj
Q.5 Identify an example of

organisms that are free-
swimming and bottom-

dwelling forms./,sls thoks a ds
mnkgj.k dh igpku djsa tks rSjkdh&eqÙkQ
vkSj ryh; vkolh; :ih gSA
(1) Phytoplankton/iQkbVksIykadVu
(2) Zooplankton/twIySadVu
(3) Fungi/dod
(4) Jellyfishes/tsfyfiQ'k

Q.6 Which of the following cities
hosted the 2019 Military World
Games organised by the
International Military Sports

Council?/fuEufyf•r 'kgjksa esa ls
fdlus varjkZ"Vªh; lSU; •sy ifj"kn }kjk
vk;ksftr 2019 lSU; fo'o •syksa dh
estckuh dh\
(1) Rio de Janeiro, Brazil

fj;ks Mh tusfj;ks] czkthy
(2) Bogota, Colombia

cksxksVk] dksyafc;k
(3) Wuhan, China

oqgku] phu
(4) Mungyeong, South Korea/

eqax;ksax] nf{k.k dksfj;k
Q.7 Abdul Karim Khan was the

exponent of which school of

Hindustani Music?/vCnqy djhe
•ku fganqLrkuh laxhr ds fdl Ldwy ds
çfriknd Fks\
(1) Jaipur Gharana/t;iqj ?kjkuk
(2) Gwalior Gharana/Xokfy;j

?kjkuk
(3) Delhi Gharana/fnYyh ?kjkuk
(4) Kirana Gharana/fdjkuk ?kjkuk

Q.8 Who has taken oath as Bihar
Chief Minister for 8th time?/

8oha ckj fcgkj ds eq[;ea=kh ds :i esa
fdlus 'kiFk yh gS\
(1) Tejaswi Prasad Yadav

rstLoh çlkn ;kno
(2) Pramod Sawant/çeksn lkoar
(3) Anugrah Narayan/vuqxzg

ukjk;.k
(4) Nitish Kumar/uhrh'k dqekj

Q.9 Which of the following
statements about cell cycle is
FALSE?/dksf'kdk pØ ds ckjs esa fuEu&
fyf•r dFkuksa esa ls dkSu lk vlR; gS\
(1) Preparation of mitosis takes

place in G2 phase./lelw=k.k
dh rS;kjh G2 pj.k esa gksrh gSA

(2) In M phase, the cell grows
physically larger and copies
organelles./M pj.k esa] dksf'kdk
'kkjhfjd :i ls cM+h gks tkrh gS
vkSj vaxks dh udy djrh gSA

(3) In S phase, replication of

DNA takes place./S pj.k esa]
Mh,u, dh çfrÑfr gksrh gSA

(4) In G1 phase, the cell grows
physically larger and copies
organelles/G1 pj.k esa] dksf'kdk
'kkjhfjd :i ls cM+h gks tkrh gS vkSj
vax dh udy djrh gS

Q.10 Shyamji Krishna Varma
established India House at __

in 1905./';keth Ñ".k oekZ us 1905
esa __esa bafM;k gkml dh LFkkiuk dhA
(1) New York/U;w;kWdZ
(2) Bombay/ckWEcs
(3) Paris/isfjl
(4) London/yanu

Q.11 ‘Indira Gandhi Shehri Rozgar
Guarantee Yojana 2022’ has
been implemented by which state

government?/^bafnjk xka/h 'kgjh
jkstxkj xkjaVh ;kstuk 2022* fdl jkT;
ljdkj }kjk ykxw dh xbZ gS\
(1) Rajasthan/jktLFkku
(2) Himachal Pradesh/fgekpy

çns'k
(3) Maharashtra/egkjk"Vª
(4) Uttar Pradesh/mÙkj çns'k

Q.12 Choose the correct pair from
the following options./

fuEufyf•r fodYiksa esa ls lgh ;qXe dk
p;u dhft,A
(1) Third Five-year Plan –

Rapid industrialisation
and basic industries/rhljh
iapo"khZ; ;kstuk & rhoz vkS|ksxhdj.k
vkSj cqfu;knh m|ksx

(2) Fourth Five-year Plan -
Family planning programme

/prqFkZ iapo"khZ; ;kstuk & ifjokj
fu;kstu dk;ZØe

(3) First Five-year Plan – Maha-
lanobis model/çFke iapo"khZ;
;kstuk & egk&ykuksfcl ekWMy
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(4) Second Five-year Plan –

Focus on agriculture/nwljh
iapo"khZ; ;kstuk & Ñf"k ij izeq[k
è;ku nsuk

Q.13 Fundamental Duties were
added in the Constitution of
India under the leadership of
which Prime Minister of

India?/Hkkjr ds fdl ç/kuea=kh ds
usr̀Ro esa Hkkjr ds lafo/ku esa ekSfyd
drZO; tksM+s x,\
(1) Narsimha Rao/ujflEgk jko
(2) Charan Singh/pj.k flag
(3) Indira Gandhi/bafnjk xka/h
(4) Lal Bahadur Shastri/yky

cgknqj 'kkL=kh
Q.14 Which of the following festivals

is celebrated in the month of

August–September?/fuEufyf•r
R;ksgkjksa esa ls dkSu lk vxLr&flracj ds
eghus esa euk;k tkrk gS\
(1) Makar Sankranti/edj

laØkafr
(2) Kite Festival/irax mRlo
(3) Bikaner Festival/chdku sj

egksRlo
(4) Onam/vks.ke

Q.15 ‘Mission Kushal Karmi’ was
launched to upgrade the skills
of construction workers. This
programme was launched by

the government of ___./fuekZ.k
Jfedksa ds dkS'ky dks mUur djus ds
fy, ̂ fe'ku dq'ky dehZ* 'kq: fd;k x;k
FkkA ;g dk;ZØe ___ dh ljdkj }kjk
'kq: fd;k x;k FkkA
(1) Gujarat/xqtjkr
(2) Haryana/gfj;k.kk
(3) Punjab/iatkc
(4) Delhi/fnYyh

Q.16 First edition of the Youth
Olympic Games was held at

_____./;qok vksyafid •syksa dk igyk
laLdj.k __ esa vk;ksftr fd;k x;k FkkA
(1) Lausanne/yqlkus
(2) Singapore/flaxkiqj
(3) Nanjing/ukuftax
(4) Innsbruck/balC#d

Q.17 Thorny bushes are found in

____ region./d¡Vhyh >kfM+;k¡ ____

{ks=k esa ikbZ tkrh gSaA
(1) Mediterranean/Hkweè;lkxjh;
(2) Polar/èkzqoh;

(3) Dry desert/'kq"d e#LFky
(4) High rainfall/vf/d o"kkZ

Q.18 Which of the following folk
dance forms does NOT belong
to the state of Gujarat?/

fuEufyf•r esa ls dkSu lk yksd u`R;
xqtjkr jkT; ls lacaf/r ugha gS\
(1) Garba/xjck
(2) Dandiya Raas/MkafM;k jkl
(3) Bidesiya/fcnsfl;k
(4) Vinchhudo/foaNqM+ks

Q.19 Who among the following
classical dancers was
rewarded with the Padma
Vibhushan Award in 2003?

fuEufyf•r 'kkL=kh; urZfd;ksa esa ls fdls
2003 esa iÁ foHkw"k.k iqjLdkj ls iqjLÑr
fd;k x;k Fkk\@
(1) Sonal Mansingh/lk s uy

ekuflag
(2) Kumudini Lakhia/dqeqfnuh

ykf•;k
(3) Shovana Narayan/'kk souk

ukjk;.k
(4) Sunayana Hazarilal/lqu;uk

gtkjhyky
Q.20 The SI unit of acceleration is

___________./Roj.k dh SI bdkbZ
___________ gSA
(1) m2/s (2) m2/s2

(3) m/s (4) m/s2

Q.21 The Tamil word ‘muvendar’
mentioned in the Sangam
poems means-

laxe dforkvksa esa mfYyf•r rfey 'kCn
^eqosaæ* dk vFkZ gS&
(1) Dhamma Mahamatta//Ee

egkeÙk
(2) Headmen/eqf•;k
(3) Rich//uh
(4) Three Chiefs/rhu çeq•

Q.22 The Vice President of India is
elected for a period of ______

years./Hkkjr ds mijk"Vªifr dks ____

o"kZ dh vof/ ds fy, pquk tkrk gSA
(1) 6 (2) 5
(3) 2 (4) 3

Q.23 Which of the following is

highest quality coal?/fuEu esa ls
dkSu lk mPpre xq.koÙkk okyk dks;yk gS\
(1) Lignite/fyXukbV
(2) Bituminous/fcVqfeul
(3) Peat/ihV
(4) Anthracite/,UFkzkslkbV

Q.24 What are the three parts of

bacterial flagellum?/cSDVhfj;y
ÝySxsye ds rhu Hkkx D;k gSa\
(1) Head, tail and lower body/

flj] iwaN vkSj fupyk 'kjhj
(2) Filament, tail and hook/

js'kk] iwaN vkSj gqd
(3) Basal body, tail and

filament/csly ckWMh] iwaN vkSj
js'kk

(4) Filament, hook and basal

body/js'kk] gqd vkSj csly ckWMh
Q.25 Common name of the

compound CaOCl
2
 is ______./

;kSfxd CaOCl
2
 dk lkekU; uke ____

gSA
(1) bleaching powder/Cyhfpax

ikmMj
(2) washing soda//kou lksMk
(3) baking soda/csfdax lksMk
(4) gypsum/ftIle

1. Select the option figure which
is embedded in the given
figure (rotation is NOT
allowed).
ml fodYi vkÑfr dk p;u djsa tks nh
xbZ vkÑfr esa lfUufgr gS (jksVs'ku dh
vuqefr ugha gS)A

(1) (2)

(3) (4) 

2. If '+' means '÷', ' – ' means '+',
'×' means ' – ' and '÷' means
'×', what will be the value of
the following expression?
;fn '+' dk vFkZ '÷', '–' dk vFkZ '+',
'×' dk vFkZ ' – ' vkSj '÷' dk vFkZ '×'

gS] rks fuEufyf•r O;atd dk eku D;k
gksxk\
[{(38 × 23) - (4 ÷ 3)} + (6 - 3)] ÷
2
(1) 6 (2) 3
(3) 8 (4) 12

3. Select the option that is
related to the fifth letter-
cluster in the same way as the
second letter-cluster is
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related to the first letter-
cluster and the fourth letter-
cluster is related to the third
letter-cluster./ ml fodYi dk p;u
djsa tks ikaposa v{kj&lewg ls mlh çdkj
lacaf/r gS tSls nwljk v{kj&lewg igys
v{kj&lewg ls vkSj pkSFkk v{kj&lewg rhljs
v{kj&lewg ls lacaf/r gSA
GAVE : AGEV :: KEPT : EKTP ::
ACID : ?
(1) CIAD (2) CAID
(3) ACDI (4) CADI

4. There different positions of
the same dice are shown.
Find the number on the face
opposite the face showing '2'?
ogk¡ ,d gh ikls dh fofHkUu fLFkfr;k¡
n'kkZbZ xbZ gSaA '2' n'kkZus okys iQyd ds
foijhr iQyd ij la[;k Kkr dhft,\

1 54

5 162 43

(i) (iii)  (ii) 

(1) 4 (2) 5
(3) 1 (4) 3

5. Select the option that is
related to the third number in
the same way as the second
number is related to the first
number and the sixth number
is related to the fifth number.
ml fodYi dk p;u djsa tks rhljh la[;k
ls mlh çdkj lacaf/r gS tSls nwljh la[;k
igyh la[;k ls lacaf/r gS vkSj NBh la[;k
ikapoha la[;k ls lacaf/r gSA
12 : 16 :: 18 : ? :: 24 : 64
(1) 26 (2) 32
(3) 28 (4) 36

6. Select the figure from among
the given options that can
replace the question mark. (?)
in the following series.
fn, x, fodYiksa esa ls ml vkÑfr dk
p;u djsa tks ç'u fpÉ dks çfrLFkkfir dj
ldrh gSA (\) fuEufyf•r J̀a•yk esaA

?

(1) (2)

(3) (4)

7. Select the figure from among
the given options that can
replace the question mark (?)
in the following series.

fn, x, fodYiksa esa ls ml vkÑfr dk
p;u djsa tks fuEufyf•r J`a•yk esa ç'u
fpÉ (\) dks çfrLFkkfir dj ldrh gSA

   .
=

... ..... ....... ?

(1) ......... (2) .........

(3) ......... (4) .........
8. A series is given with one term

missing. Select the correct
alternative from the given ones
that will complete the series.

,d vuqØe fn;k x;k gS ftlesa ,d in
yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks J`a•yk dks iwjk djsA
NMQR, NQYD, NUGP, NYOB, ?
(1) NQRC (2) NMWN
(3) NCWN (4) NWRQ

9. Three of the following letter-
clusters are alike in some
manner and hence form a
group. Which letter-cluster
does not belong to that group?

fuEufyf•r esa ls rhu v{kj&lewg fdlh
rjg leku gSa vkSj blfy, ,d lewg
cukrs gSaA dkSu lk v{kj&lewg ml lewg
ls lacaf/r ugha gS\
(1) TVR (2) DFB
(3) QSO (4) KGI

10. Select the option that is
related to the fifth letter-
cluster in the same way as the
second letter-cluster is
related to the first letter-
cluster and the fourth letter-
cluster is related to the third
letter-cluster.

ml fodYi dk p;u djsa tks ikaposa
v{kj&lewg ls mlh çdkj lacaf/r gS
tSls nwljk v{kj&lewg igys v{kj&lewg
ls vk Sj pk SFkk v{kj&lewg rhljs
v{kj&lewg ls lacaf/r gSA
JUMPED : LWORGF ::
QUICKS : SWKEMU ::
FUZING : ?
(1) HKWIPB (2) IPKBWH
(3) HWBKPI (4) HWKBPI

11. Which of the following letter-
clusters will replace the
question mark (?) and
complete the following letter-
cluster series?

fuEufyf•r esa ls dkSu lk v{kj&lewg
ç'uokpd fpÉ (\) dks çfrLFkkfir

djsxk vkSj fuEufyf•r v{kj&lewg J̀a•yk
dks iwjk djsxk\
DW, FU, GT, IR, JQ, ?
(1) LN (2) LO
(3) MO (4) LP

12. In the following question below
are given some statements
followed by someconclusions
based on those statements.
Taking the given statements to
be true even if they seem to
be at variance from commonly
known facts. Read all the
conclusions and then decide
which of the given conclusion
logically follows the given
statements.

uhps fn, x, ç'u esa dqN dFku fn,
x, gSa vkSj mu dFkuksa ds vk/kj ij dqN
fu"d"kZ fn, x, gSaA fn, x, dFkuksa dks
lR; ekuuk Hkys gh os loZKkr rF;ksa ls
fHkUu çrhr gksrs gksaA lHkh fu"d"kks± dks
i<+sa vkSj fiQj r; djsa fd fn, x,
fu"d"kks± esa ls dkSu lk fu"d"kZ rkfdZd
:i ls fn, x, dFkuksa dk vuqlj.k
djrk gSA
Statements:/dFku
I. All K are H/lHkh K, H gSA
II. No S is K/S, K ugha gSA
Conclusion:/fu"d"kZ
I. No K is S/K, S ugha gSA
II. All H are K/lHkh H, K gSA
(1) Only conclusion II follows/

dsoy fu"d"kZ II vuqlj.k djrk gS
(2) Only conclusion I follows/

dsoy fu"d"kZ I vuqlj.k djrk gS
(3) Neither conclusion follows

/dksbZ Hkh fu"d"kZ vuqlj.k ugha djrk
gS

(4) Both conclusions I and II/

nksuksa fu"d"kZ I vkSj II.
13. Select the set in which the

numbers are related in the
same way as are the numbers
of the following set.
(NOTE : Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g. 13 -
Operations on 13 such as
adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
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operations on 1 and 3 is NOT
allowed)

ml lsV dk p;u djsa ftlesa la[;k,¡
mlh rjg ls lacaf/r gSa tSls fuEufyf•r
lsV dh la[;k,¡ gSaA
(è;ku nsa% la[;kvksa dks muds ?kVd
vadksa esa foHkkftr fd, fcuk] iw.kZ la[;kvksa
ij lapkyu fd;k tkuk pkfg,A mnkgj.k
ds fy, 13 & 13 ij lapkyu tSls 13
dks tksM+uk @ ?kVkuk @ xq.kk djuk vkfn
fd;k tk ldrk gSA 13 dks 1 vkSj 3 esa
rksM+uk vkSj fiQj 1 vkSj 3 ij xf.krh;
lafØ;k,¡ djus dh vuqefr ugha gS)
(240, 55, 65)
(320, 85, 75)
(1) (140, 35, 25)
(2) (220, 90, 15)
(3) (160, 35, 45)
(4) (200, 5, 105)

14. Read the given statements
and conclusions carefully.
Assuming that the
information given in the
statements is true, even if it
appears to be at variance with
commonly known facts,
decide which of the given
conclusions logically follow(s)

from the statements./fn, x,
dFkuksa vkSj fu"d"kks± dks è;kuiwoZd i<+saA
;g ekurs gq, fd dFkuksa esa nh xbZ tkudkjh
lR; gS] Hkys gh ;g lkekU; :i ls Kkr
rF;ksa ls fHkUu çrhr gksrh gks] r; djsa fd
fn, x, fu"d"kks± esa ls dkSu lk dFkuksa dk
rkfdZd :i ls vuqlj.k djrk gSA
Statements:/dFku%
Some doctors are painters/dqN
MkWDVj isaVj gSaA
Some doctors are labours/dqN
MkWDVj etnwj gSaA
All the labours are athletes/

lHkh etnwj ,FkyhV gSaA
Conclusions:/fu"d"kZ
I. Some labours are painters

/dqN etnwj isaVj gSaA
II. Some athletes are doctors

/dqN ,FkyhV MkWDVj gSaA
III. All the doctors are athletes

/lHkh MkWDVj ,FkyhV gSaA
IV. Some athletes are painters

/dqN ,FkyhV isaVj gSaA
(1) Only conclusions II and III

follow/ dsoy fu"d"kZ II vkSj III
vuqlj.k djrs gSaA

(2) Only conclusion II follows/

dsoy fu"d"kZ II vuqlj.k djrk gSA
(3) Only conclusion III follows

/dsoy fu"d"kZ III vuqlj.k djrk
gSA

(4) Only conclusions I and II

follow/ dsoy fu"d"kZ I vkSj II
vuqlj.k djrs gSaA

15. Select the option in which the
given figure is embedded
(rotation is not allowed).

ml fodYi dk p;u djsa ftlesa nh xbZ
vkÑfr lfUufgr gS (?kw.kZu dh vuqefr
ugha gS)A

(1) (2) 

(3) (4) 

16. Select the odd group of
numbers. (NOTE: Operations
should be performed on the
whole numbers, without
breaking down the numbers
into its constituent digits.
E.g.13 - Operations on 13
such as adding /subtracting
/multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed)/ la[;kvksa ds fo"ke lewg
dk p;u djsaA (è;ku nsa% la[;kvksa dks
muds ?kVd vadksa esa foHkkftr fd, fcuk]
iw.kZ la[;kvksa ij lafØ;k,¡ dh tkuh pkfg,A
mnkgj.k 13 & 13 ij lafØ;k,¡ tSls 13
esa tksM+uk@?kVkuk@xq.kk djuk vkfn fu"ikfnr
dh tk ldrh gSaA 13 dks 1 vkSj 3 esa
foHkkftr djuk vkSj fiQj 1)
(1) (153 - 151 - 147)
(2) (171 -169 -167 )
(3) (183 - 181 - 178)
(4) (201 -198 -197)

17. Which two signs and two
numbers should be interch-
anged in the following
equation to make it correct?

fuEufyf•r lehdj.k dks lgh djus ds
fy, fdu nks fpÉksa vkSj nks la[;kvksa dks
vkil esa cnyuk pkfg,\

150 × 15+ 14 - 9 ÷ 2 =6
(1) 9, 2, –, × (2) 9, 2, ÷, ×
(3) 150, 2, ÷, – (4) 15, 9, +, ÷

18. In a certain code language,
'CYTOSKELETON' is written
as 'TYCKSOELENOT',
'MALNUTRITION' is written
as 'LAMTUNTIRNOI'. How
will 'ALLITERATION' be
written in that language?/

,d fuf'pr dksM Hkk"kk esa]
'CYTOSKELETON' dks
'TYCKSOELENOT' fy•k tkrk
gS] 'MALNUTRITION dks
'LAMTUNTIRNOI' fy•k tkrk gSA
ml Hkk"kk esa 'ALLITERATION' dks
dSls fy•k tk,xk\
(1) LLAETITARNOI
(2) LLAETIATRNOI
(3) LLEATITARNOI
(4) LLAETITRANOI

19. In a certain code language,
'PSYCHIC' is written as
'YSPCCIH' and 'CITIZEN' is
written as 'TICINEZ'. How will
'MAHATMA' be written in that
language?

,d fuf'pr dksM Hkk"kk esa] 'PSYCHIC'

dks 'YSPCCIH' vkSj 'CITIZEN' dks
'TICINEZ' fy•k tkrk gSA ml Hkk"kk
esa 'MAHATMA' dSls fy•k tk,xk\
(1) HAMAATM (2) AHMAAMT
(3) HAMAAMT (4) HAMAMAT

20. After arranging the given
words according to dictionary
order, which word will come
at 'Fourth' position?

fn, x, 'kCnksa dks 'kCndks'k Øe ds
vuqlkj O;ofLFkr djus ij dkSu&lk 'kCn
pkSFks LFkku ij vk,xk\
(1) Unseen/vuns[kh
(2) Unseam/[kksyuk
(3) Unsafe/vlqjf{kr
(4) Unsound/vLoLFk
5. Unsay/vuls
(1) Unseen/vuns[kh
(2) Unsay/vuls
(3) Unseam/[kksyuk
(4) Unsound/vLoLFk

21. If A × B means that A is the
father of B, A + B means that
A is the mother of B, A ÷ B
means that A is the brother
of B then which of the
following expression shows
that Q is the son of P?
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;fn A × B dk vFkZ gS fd A] B dk
firk gS] A $ B dk vFkZ gS fd A] B
dh ek¡ gS] A ÷ B dk vFkZ gS fd A] B
dk HkkbZ gS] rks fuEu esa ls dkSu lk
O;atd n'kkZrk gS fd Q] P dk iq=k gS \
(1)  Q + P × R (2) P + Q × R
(3) R × Q + P (4) P + Q ÷ R

22. Which of the following
interchange of numbers and
mathematical signs would
make the given equation
correct?

fuEufyf•r esa ls dkSu lk vad vkSj
xf.krh; fpÉksa dk vknku&çnku fn, x,
lehdj.k dks lgh djsxk\
30 ÷ 6 × 4 + 15 – 35 = 25
(1) 25 and 30, × and –
(2) 4 and 6, + and –
(3) 25 and 35, × and ÷
(4) 30 and 35, – and ÷

23. A @ B means 'A is the sister
of B'.
A & B means 'A is the brother
of B'.
A # B means 'A is the wife of
B'.
A ^ B means 'A is the mother
of B'
A + B means 'A is the father
of B'.

A @ B dk vFkZ gS 'A] B dh cgu gSA
A & B dk vFkZ gS 'A] B dk HkkbZ gSaA
A # B dk vFkZ gS 'A] B dh iRuh gSaA
A ^ B dk vFkZ gS 'A] B dh ek¡ gSA
A + B dk vFkZ gS 'A] B dk firk gSA
If A + G & I + R @ S @ T # U &
V, then which of the following
statements is NOT correct?

;fn A + G & I + R @ S @ T # U

& V, rks fuEufyf•r esa ls dkSu lk
dFku lgh ugha gS\
(1) I is the father-in-law of U/

I] U dk llqj gSA
(2) A is the maternal grand-

father of T/ A] T dk ukuk gSA
(3) G is the brother of I/G] I

dk HkkbZ gSA
(4) R is the paternal grand-

daughter of A/R] A dh iksrh
gSA

24. Select the option that is
related to the fourth term in
the same way as the first term
is related to the second term
and the fifth term is related

to the sixth term./ml fodYi dk

p;u djsa tks pkSFks in ls mlh çdkj
lacaf/r gS tSls igyk in nwljs in ls
lacaf/r gS vkSj ikapoka in NBs in ls
lacaf/r gSA
35 : 21 :: ? : 36 :: 40 : 24
(1) 65 (2) 50
(3) 60 (4) 55

25. Which of the following
numbers will replace the
question mark (?) in the given

series?/ fuEufyf•r esa ls dkSu lh
la[;k nh xbZ J̀a•yk esa ç'u fpÉ (\)
dks çfrLFkkfir djsxh\
4, 6, 12, 14, 28, 30, ?
(1) 62 (2) 60
(3) 54 (4) 52

Q.1 Select the option that
expresses the given sentence
in passive voice.
Priya washes her clothes in
the evening.
(1) The clothes was washed

by Priya in the evening.
(2) The clothes is washed by

Priya in the evening.
(3) The clothes are washed by

Priya in the evening.
(4) The clothes were washed

by Priya in the evening.
Q.2 Select the option that

contains a grammatical
error in the underlined
portion.
It would be impossible for
them to continue living in
this world if each of them
knew exactly what fate had
it store for them.
(1) It would be impossible for

them to continue living in
this world if each of them
knew exactly what fate
had it store for them.

(2) It would be impossible for
them to continue living in
this world if each of them
knew exactly what fate
had it store for them

(3) It would be impossible for
them to continue living in
this world if each of them
knew exactly what fate
had it store for them.

(4) It would be impossible for
them to continue living in
this world if each of them
knew exactly what fate
had it store for them.

Q.3 Select the most appropriate
option to fill in the blank.
The doctor directed the
nurse to administer an
__________ medicine to the
patient.
(1) official (2) eminent
(3) alternative (4) insightful

Q.4 Select the option that can
be used as a one-word
substitute for the given
group of words.
A piece of a living tissue or
plant that is transplanted
surgically
(1) Gratis (2) Gourmet
(3) Gracious (4) Graft

Q.5 Select the correct active
form of the given sentence.
The clothes will be delivered
by the shop on Monday.
(1) The shop will be delivering

the clothes on Monday.
(2) The shop will deliver the

clothes on Monday.
(3) The shop would be

delivering the clothes on
Monday.

(4) The shop would deliver the
clothes on Monday.

Q.6 Select the most appropriate
ANTONYM of the underlined
word.
Failure to carry hall ticket to
the exam is considered as a
trivial issue.
(1) underrated
(2) kind
(3) problematic
(4) serious

Q.7 Sentences of a paragraph are
given below in jumbled
order. Arrange the sentences
in the correct order to form
a meaningful and coherent
paragraph.
A. A panther is reported to

have broken into a house
yesterday in search of food
and shelter.

B. The villagers heard his
cries and ran to the house
but the scared animal had
run away through the
window by then.

C. It secretly slouched into a
room where a young man
named Johnny was
sleeping, who suddenly
woke up and realised that
the beast was roaming
around his bed.
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D. Just as the panther was
about to leap on him, he
swiftly shot out of bed and
hid in a closet.

(1) ABDC (2) BDCA
(3) ACDB (4) DCAB

Q.8 Select the INCORRECTLY
spelt word.
(1) Peircing (2) Sleek
(3) Pie (4) Itch

Q.9 Select the most appropriate
option to fill in the blank.
If you try to do something
every day you will ________
progress.
(1) hold (2) get
(3) make (4) catch

Q.10 Select the most appropriate
synonym of the given word.
Competent
(1) Complex (2) Poor
(3) Capable (4) Beginner

Q.11 Choose the correct meaning
of the given idiom.
In weal and woe
(1) In sad and gloomy days
(2) In happiness and good

times
(3) In prosperity and adversity
(4) In despair and failure

Q.12 Select the most appropriate
synonym of the given word.
Announce
(1) Denounce (2) Secret
(3) Hide (4) Advertise

Q.13 Rearrange the parts of the
sentence in correct order.
While physical movement
P. activities may not require

physical
Q. is important for children,

all learning
R. the part of teachers and

students
S. movement and facial

expressions on
(1) PRQS (2) RSPQ
(3) QSRP (4) QPSR

Q.14 Select the most appropriate
meaning of the given idiom.
A green horn
(1) Uneducated person
(2) Inexperienced person
(3) Clever person
(4) Skilled person

Q.15 Select the correct direct
form of the given sentence.
He said that something
might be missing in there.
(1) He said, “Something may

be missing in here.”

(2) He said, “Something had
to be missing in there.”

(3) He said, “Something is
been missing in here.”

(4) He said, “Something could
be missing in here.”

Q.16 Select the sentences that
contains no spelling errors.
(1) Many communities in the

world still feel that their
voices and position has
been dissenfranchised.

(2) Many communities in the
world still feel that their
voices and position has
been dysenfranchised.

(3) Many communities in the
world still feel that their
voices and position has
been dysenfrenchized.

(4) Many communities in the
world still feel that their
voices and position has
been disenfranchised.

Q.17 Sentences of a paragraph
are given below in jumbled
order. Arrange the
sentences in the correct
order to form a meaningful
and coherent paragraph.
A. They also wore felt caps to

cover their ears.
B. They wore trousers tucked

into leather boots.
C. This place was famous for

its skilful archers and
horsemen.

D. In the 5th and 4th
centuries BC, today’s
south Ukraine was known
as Scythia.

(1) BCDA (2) CBDA
(3) ABCD (4) DCBA

Q.19 Select the most appropriate
synonym of the underlined
word in the given sentence.
The sporadic instructions of
the invigilators distracted
the examinee.
(1) Continuous
(2) Indirect
(3) Repetitive
(4) Occasional

Q.20 Select the most appropriate
option that can substitute
the underlined segment in
the given sentence.
Rajan is having three
brothers and three sisters.
(1) Rajan has been having
(2) Rajan has

(3) Rajan was having
(4) Rajan having

Comprehension: In the following
passage some words have been
deleted. Fill in the blanks with the
help of the alternatives given. Select
the most appropriate option for
each number.
The modern-day student is
extremely 1____ with technology.
They do read quite a bit because of
social media. While their writing
skills may not be top notch, they
do write, courtesy 2___ affinity to
various platforms on the internet.
However, one skill that has been
3______ affected is listening skills.
They are extremely poor 4______
listeners. If this issue is not
addressed, what we may be heading
to in the future is a huge chunk of
people across the globe, with poor
skills of listening, and a huge
number of passive listeners.
Researchers say that listening is
the prime ingredient for empathy
and the world will be in extreme
poverty in terms of number of
5_____ on the planet.
Q.21 Select the most appropriate

option to fill in blank
number 1.
(1) hindered
(2) disconnected
(3) dreary
(4) savvy

Q.22 Select the most appropriate
option to fill in blank
number 2.
(1) their (2) they’re
(3) dare (4) there

Q.23 Select the most appropriate
option to fill in blank
number 3.
(1) thoroughly (2) through
(3) holistically (4) daily

Q.24 Select the most appropriate
option to fill in blank
number 4.
(1) passive
(2) active
(3) distinctive
(4) demonstrative

Q.25 Select the most appropriate
option to fill in blank
number 5.
(1) sympathisers
(2) empathisers
(3) donors
(4) characters


